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2019/March Braindump2go CL O-001 Exam Dumps with PDF and VCE New Updated Today! Following are some new CL O-001
Exam Questions:1.]2019 Latest Braindump2go CLO-001 Exam Dumps (PDF & VCE) Instant

Download: https://www.braindump2go.com/clo-001.html 2.]2019 Latest Braindump2go CLO-001 Exam Questions & Answers
Instant Download: https://drive.google.com/drive/folders 1I0GA 3FUGZ0ZkQvwY vapL UnAxoaT 31fq7C?usp=sharingNew Question
Which of the following is an essential step in the start-up process of avirtual server?A. Identify the location of the physical
machineB. Select identity providersC. Select security credentialsD.  Select the application set that will run onitAnswer: CNew
QuestionWhich of the following is MOST typically accessed through Web services?A. 1aaSB. PaaSC. SaaSD. None of the
aboveAnswer: BNew QuestionWhich of the following isthe MOST important impact of cloud computing on managing service
levels?A. Capacity can be more elastic.B.  External providers can deny a capacity increase when required.C.  Providers measure
their own performance.D. Scarcity of resources can occur if not monitoredAnswer: ANew QuestionWhich of the following do
business accountants prefer with respect to the cost of cloud computing?A. Budgetsto befixedB. Coststhat are related to
number of usersC. Coststhat are related to profitsD. Coststo be fixedAnswer: CNew QuestionWhy can cloud computing be a
challengein relation to compliance risks (e.g. compliance with the Sarbanes-Oxley Act)?A. It makesit harder to know where a
company'simportant assets are.B. It is harder to limit the provider's liability in the contract.C. It makesit harder to know where a
company's physical assetsare.D. Industry regulations change more frequently to ensure compliance. Answer: ANew Question
Twitter is a service that allows users to exchange short text messages. Thisisan exampleof:A. PaaSB. SaaSC. laaSD. QoS
Answer: BNee QuestionWhich of the following can cause user response timesto deteriorate?A. High CPU usage and low network
bandwidthB. High network latency and high volume of data storedC. Low network bandwidth and high network latencyD.

Low network bandwidth and high volume of data storedAnswer: BNew QuestionWhich of the following is a characteristic of cloud
computing?A. Cloud computing istypically based on open Internet technologyB. Cloud computing is typically based on web
technologyC. Cloud computing is cheaper compared to virtualizationD. Cloud computing typically uses XML or JSON
technologiesAnswer: ANew QuestionWhich of the following only provides configurable physical hardware and network resources
used to make up the cloud?A. l1aaSB. SaaSC. PaaSD. CaaSAnswer: ANew QuestionWhich of the following would help an
organization's IT department set their objectives and expectations for a cloud computing solution?A.  Service TransitionB.

Service OperationC. Service StrategyD.  Service DesignAnswer: CNew QuestionWhich of the following isthe BEST way to
mitigate the security and privacy issues associated with cloud computing?A.  Allowing only cloud administrators to have access to
cloud resourcesB. Removing firewalls and access control routers from the networkC.  Implementation and enforcement of a
comprehensive security policyD. Removing virtualized hardware from the organizationAnswer: CH!RECOMMEND!!!1.]2019
Latest Braindump2go CLO-001 Exam Dumps (PDF & V CE) Instant Download: https://www.braindump2go.com/clo-001.html
2.]2019 L atest Braindump2go CLO-001 Study Guide Video Instant Download: Y ouTube Video:

Y ouTube.com/watch?v=i27ax0x49JY
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